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| was so hungry that when | was asked what | would like
to eat, | just said '............ ;1 don't mind'.

1) Everything
2) Nothing

3) Anything

4) Somethings



Which sentence has the best order?

1) the students practiced their lessons last
Monday carefully here.

2) Yesterday, the teacher taught us lesson five
carefully at school.

3) The students carefully practiced their lessons
last Monday here.

4) The teacher carefully yesterday taught us
lesson five.



Depression remains the greatest .... cause of mental
disorder in nation.

1) preventable
2) revolutionary
3) imaginary

4) protective



Buying the house seemed a great ..... at the time, but
now | can see it was a terrible ...... .

1) view /probability

2) thought /suggestion
3) opinion / region

4) idea/ mistake



A: What is the most educated group in Iran? B:ldon't
know. | just know that the .... of women graduates has

increased in recent years.

1) prediction

2) proportion
3) production
4) publication



That your cousin has complete ..... in himself is the key
to his success.

1) schedule

2) imagination
3) confidence
4) information



Reading Comprehension

Many people today are very aware of health and fitness. They are
changing their eating habits and getting more exercise. They are
eating food with less fat. They are also joining health clubs to work
out, or sports clubs to play tennis, etc. In addition to the increase in
members at sport and health clubs, there is a lot of interest in
endurance tests, such as the marathon_ a 26 mile running race_ and
the triathlon_ a race combining running , swimming, and bicycling.
Businesses are aware of the changes in people's lifestyles and
health awareness. In their products and advertisements, they are
trying to appeal to health —conscious people. Beautiful models in
perfect shape are selling consumers diet sodas and low-calorie
cereals. Soda companies and coffee and tea manufacturers are
making caffeine-free drinks, and the word " natural” appears on
everything from frozen food to cosmetics. Even fast-food
restaurants are responding to this new interest in fitness. There are
now salad bars at restaurants like McDonald's and Burger king.
How long will this fitness craze last? No one knows, but doctors

and health officials hope it is here to stay.

The race involving three activities is called the ..........

1) triathlon

2) marathon

3) 26-mile race

4) endurance race



Reading Comprehension

Many people today are very aware of health and fitness. They are
changing their eating habits and getting more exercise. They are
eating food with less fat. They are also joining health clubs to work
out, or sports clubs to play tennis, etc. in addition to the increase in
members at sport and health clubs, there is a lot of interest in
endurance tests, such as the marathon_ a 26 mile running race_ and
the triathlon_ a race combining running , swimming, and bicycling.
Businesses are aware of the changes in people's lifestyles and
health awareness. In their products and advertisements, they are
trying to appeal to health —conscious people. Beautiful models in
perfect shape are selling consumers diet sodas and low-calorie
cereals. Soda companies and coffee and tea manufacturers are
making caffeine-free drinks, and the word " natural” appears on
everything from frozen food to cosmetics. Even fast-food
restaurants are responding to this new interest in fitness. There are
now salad bars at restaurants like McDonald's and Burger king.
How long will this fitness craze last? No one knows, but doctors

and health officials hope it is here to stay.

The passage gives two examples of ....... :

1) cereals
2) cosmetics

3) health clubs
4) endurance tests



Reading Comprehension

Many people today are very aware of health and fitness. They are
changing their eating habits and getting more exercise. They are
eating food with less fat. They are also joining health clubs to work
out, or sports clubs to play tennis, etc. in addition to the increase in
members at sport and health clubs, there is a lot of interest in
endurance tests, such as the marathon_ a 26 mile running race_ and
the triathlon_ a race combining running , swimming, and bicycling.
Businesses are aware of the changes in people's lifestyles and
health awareness. In their products and advertisements, they are
trying to appeal to health —conscious people. Beautiful models in
perfect shape are selling consumers diet sodas and low-calorie
cereals. Soda companies and coffee and tea manufacturers are
making caffeine-free drinks, and the word " natural” appears on
everything from frozen food to cosmetics. Even fast-food
restaurants are responding to this new interest in fitness. There are
now salad bars at restaurants like McDonald's and Burger king.
How long will this fitness craze last? No one knows, but doctors

and health officials hope it is here to stay.

The passage is mainly about..... .

1) people's eating habits

2) different health clubs

3) people's interest in fitness

4) advertisements for food products



Reading Comprehension

Many people today are very aware of health and fitness. They are
changing their eating habits and getting more exercise. They are
eating food with less fat. They are also joining health clubs to work
out, or sports clubs to play tennis, etc. in addition to the increase in
members at sport and health clubs, there is a lot of interest in
endurance tests, such as the marathon_ a 26 mile running race_ and
the triathlon_ a race combining running , swimming, and bicycling.
Businesses are aware of the changes in people's lifestyles and
health awareness. In their products and advertisements, they are
trying to appeal to health —conscious people. Beautiful models in
perfect shape are selling consumers diet sodas and low-calorie
cereals. Soda companies and coffee and tea manufacturers are
making caffeine-free drinks, and the word " natural” appears on
everything from frozen food to cosmetics. Even fast-food
restaurants are responding to this new interest in fitness. There are
now salad bars at restaurants like McDonald's and Burger king.
How long will this fitness craze last? No one knows, but doctors and

health officials hope it is here to stay.

What does "craze" in the last sentence mean?

1) something that is suddenly very popular
2) an illness involving physical disabilities
3) a puzzle to which there is no solution

4) somebody who tries to keep fit
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